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Ahmed Al-Aqeel

28) which of the following cardic tissues has the highest conduction velocity
a-purkunji fibers
b-SA node
c-atrial muscle
d- AV node
c-internodal tract

29) phase 3 in the action potential of the cardic due to 
a- K+ efflux 
b-Na+ influx
c-ca+ influx
d. Na+ efflux.


30) At the absolute refractory phase, 
no excitability due to complete depolarization even by suprathreshold

31) all of the following chronotropic factor except, 
a-sympthetic
b-digitalis
c-K+ ion
d-Ca+2
e-norepinphrin

32) The effect of Sympathetic stimulation is,
increasing the slope of prepotential



34)Regarding anatomical cardiovascular system, 
a- tricaspud valve between left atrium and left ventricle 
b- aortic valve prevent backflow of blood to the lef ventricle during ventricular diastole
d-right ventricle offere more resistance (volume pump) than left ventricle

35) Regarding the resting membrane potential, 
36) Regarding  coagulation,
a-plasmin digests fibrin clot( correct)

A deficiency of Vitamin K will prevent the clot formation
b- Platelets aggregation induces the clot formation.


37. AP of S.A node:

a. has platue.

b. firing level is -90.

c. has pre-potential.

1. Which one of the following ions is the most effective in phase 2 or the platue,

a. Ca++.

b. K+

c. Na+.

d. Cl-.

e. Mg++.

2. Which one of the followings does NOT have a +ve ionotropic effect,

a. K+.
b. The sympathetic stimulation.
c. Ca++.
d. Digitalis.
3. Acute venodilation will result in,

a. drop of Cardiac Output.

b. Decrease the heart rate.

c. Increase the venous return.

4. Which phase of the cardiac cycle comes immediately after the beginning of the QRS complex, 

a. Atrial systole.

b. Isovolumetric contraction.

c. Isovolumetric relaxation.

d. Protodiastole. 

4. in a posteroanterior radiograph of the thorax, the following structures form the left margin of the heart shadow except which 

a. left auricle 

b. pulmonary trunck 

c. arch of the aorta 

d. left ventricle 

e. superior vena cava

17. regarding the heart all true except 

a. anterior cardiac vein drain into the right atrium 

b. right coronary artery open into the left posterior aortic sinus 

4-According to pentose phosphate pathway what is the true,

a) Skeletal muscle need the oxidative portion

b) Mammary glands need nonoxidative reactions more than the oxidative reactions.

c) Produce the main portion of ribose 5 phosphate

7-UDP- galactose can participate in all of the following production except,
a) Glycolipid

b) Glycoprotein

c) Glycosaminoglycans

d) Lactose
e) Glycogen

19- TCA cycle results in,

a) 12 ATPs.

b) 10 ATPs.

c) 14 ATPs.

d) 8 ATPs.

20- Which one of the following has more stored glycogen,

a) liver.

b) kidney.

c) skeletal muscles.

21- According to glycogen, all are true EXCEPT,

a) More branches of glycogen indicates higher rates of metabolism.

b) each branch consists of 8 to 10 glucose units.

c) its synthesis is stimulated by glucagon .

22- Which of the following enzymes needs pyrudoxal phosphate,

a) glucagon phosphorylase.
b) glucagon synthase.

c) lysosmal ( (1-4) glucosidase.

25- According to glycogen degradation in skeletal muscles, all are true EXCEPT,

a) it can not transfer the end products to the blood because it lacks gluose-6-phosphatase.

b) One of its terminal products is glucose.

c) Glycogen phosphorylase degrades glycogen branches until it reaches to 2-unit-long branches.

26- Regarding Classic galactosuria,

a) it causes accumulation of UDP galactose.

b) it leads to cataract, severe mental retardation and liver dmage.

c) it progresses by breast feeding.

d) it is x-linked disorder. 

27- Which one of these enzymes or processes does NOT affect lipid absorption,
a) Defected bile secretion.

b) Pancreatic enzymes. 

c) shortened bowl.

d) liver diseases. 

28- According to dietary lipids, all of the following are true EXCEPT,

a) lipids are major sources for energy in our bodies.

b) lipids provide hydrophobic barriers.

c) more than 90% of injested lipids are TAG.

d) most dietary cholesterol is present in the esterified form.

29- According to metabolism of lipids, all of the following are true EXCEPT,

a) Cholesterol is eseterified to Fatty acid by acyl Co A: Cholesterol acyltransferrase.

b) Fatty acids are activated by fatty acyl Co A synthetase.

c) phospholipase A2 removes two fatty acids from a phospholipids.

d) Short and medium chain fatty acids are NOT converted to acyl Co A derivatives.

30- According to the enzymes of lipid degradation, all of the following are true EXCEPT,

a) Colipase is found in ratio 1:1 with pancreatic lipase.

b) Phospholipase A2 is activated by trypsin.

c) Cholesterol ester hydrolase requires bile salts for its optimum activity.

d) pancreatic lipase is secreted as a zymogene.

1) Glucagon activate both glycogen synthase &     phosphorelase but in different degrees(F)

2) In red cells 2-3 bisphosphoglycerate Increases especially in anemia(T)

3) Aspirine in high doses inhibits production of ATP through by the electron transport chain ( T )

4) One of the end product of degradation of glycogen in muscles is glucose ( T )

5) Activation of adenlyl cyclase leads to phosphorylation of the cAMP dependent protein kinase (F)

6) Insuline activates both pyrovate kinase and carboxilase( F ).

8) Complete glycolysis requires insuline, intact mitochondrion, and O2 ( T )

21. regarding the cardic muscle which one is wrong

a. it has a gap junction 

b. it's fiber form anastomosing network of branching cardiac muscle 

c. the dyad system of T tubule is present 

d. has dense bodies

e. fascia adherents analogous to every disk 

5. Each of the following causes edema EXCEPT,

a. Increase plasma colloid pressure.

b. Increase capillary permeability.

c. Increase hydrostatic capillary pressure.

d. Blockage of lymphoid.


q1- man has resting O2 consumption=200ml the femoral artery content=150ml of O2& the((...))artery content=100 ml of O2 ...the cardiac out put equal to;

a-4L

q2- the (TPR) occur in

a-small artries&arterioles

q3-venous return

a- increase by increase the pressure gradient of venous

q4-the cardiac out put increase by increase 

a-stroke volume

q5-the most common vasodilation is

a-adenosin

q6- when the arterial pressure equal to 120/75..the mean systemic pressure equal to


a-90 mm hg

q7- the barorecetor

a-works against the drop of pressure when the person standing up

q8- the strok volume

a-increase by increase end diastolic volume

q9- the mean blood pressure

a-cardiac out put times the total periphral resistance

q10- the long term control of high blood pressure regulate by

a-the decrease in the renin level which secreted by kidney
1- Bacterial tricuspid endocarditis is caused mainly by:

a) Illegal intravenous drug use                     - b/c Rt side

b) Prosthetic valve disease

c) Rheumatic heart disease

d) High pressure shunt in heart

e) MI

2- Mouth fish (mitral valve stenosis ) is a complication of:

a. Mitral valve prolapsed

b. Rheumatic heart disease       -

3- Morfan syndrome is associated with :

a) Aortic dissection     -

b) Emphesyma

c) Atrial septal defect

d) Patent ductus arteriosus

e) Temporal artritis

4- 60 yr women has facial pain & headacke she most likely to suffer from : 

a) Temporal vasculitis  -

b) Tackysasau arteritis

c) PAN

d) Wegener's 

e) Burger disease

5- Tricuspid atresia cause cyanosis by:

a) Rt to Lt shunt at atrial level                                   -

b) Transposition of great vessels

c)  Ventricle chambers are transposed  

d) Patent ductus arteriosus

6- What is the most common congenital disease that cause obstruction of left ventricle:

a) Coarctation of aorta    -

b) Aortic bicuspid stenosis ? atresia'

c) Patent ductus arteriosus

7- Acute rheumatic fever is characterized by all except:

a) Mitral valve stenosis             - (chronic)

b) Antistreptolysin O rise titer

c) Migrating large joint arthritis

d) Pancarditis

e) Aschoff bodies
8- which one of the following will NOT lead to sudden cardiac death?

a) Aortic valve stenosis

b) Mitral valve prolapsed

c) Myocarditis

d) Dilated cardiomyopathy

e) Pulmonary stenosis                                 -

9- Libman sack endocarditis is associated with

a) Acute Rheumatic fever

b) Systemic lupus erythromatosis                               -

c) Myocardial infarction

10- The most common coronary artery involved with MI is:

a. Right descending artery

a) Left anterior descending art                     -

b) Both branches of left coronary

1. Which one of the following drugs is associated with the development of a lupus-like syndrome, especially in patients identified as "slow acetylators"?

A. Arniodarone

B. Clonidine

C. Nitroglycerin

D. Procainamide
E. Terazosin
2. Which one of the following actions is characteristic of amiloride?

A. Alkalosis

B. Block of Na reabsorption in the proximal tubule

C. Hyperkalemia
D. Increased tubular reabsorption of Ca

E. Bicarbonaturia
3. The most common manifestation of lidocaine toxicity is

A. CNS dysfunction

B. drug fever

C. hypertension

D. hypokalemia

E. torsade
4. A patient with hyperthyroidism develops a cardiac arrhythmia. Optimal treatment of the patient should include management with

A. amiodarone

B. bretylium

C. digoxin

D. lidocaine

E. propranolol

5. Calcium channel antagonists

A. increase intracellular CAMP

B. decrease myocardial contractility

C. increase  reactivation of Na channels

D. decrease intracellular K

E. increase conduction velocity
6. In terms of the ability of drugs like digoxin to increase cardiac contractility, their primary

action on cardiac cells is

A. activation of adenylyl cyclase

B. inactivation of Na channels

C. activation of the slow Ca channel

D. inhibition of NaIK-ATPase

E. activation of the NaIC1 cotransporter
7. Which one of the following drugs is most likely to block K+ channels in the heart responsible for the delayed rectifier current?

A. Amiodarone
B. Encainide

C. Lidocaine

D. Phenytoin

E. Verapamil
8. The treatment of hyperlipidemic patients with nicotinic acid (niacin) results in

A. increases in VLDL

B. decreases in both plasma cholesterol and TGs

C. inhibition of HMG-CoA reductase

D. decreases in HDL

E. no change in total cholesterol in the plasma
9. Following a myocardial infarction, a patient in the emergency room of a hospital develops ventricular tachycardia. The best way to manage this situation is with the administration of

A. adenosine

B. diltiazem

C. esmolol

D. lidocaine

E. flecainide
10. In a patient suffering from angina of effort, nitroglycerin may be given sublingually because this mode of administration

A. bypasses the coronary circulation

B. causes less reflex tachycardia than oral administration

C. improves patient compliance

D. has a decreased tendency to cause methemoglobinemia

E. avoids first-pass hepatic metabolism

all of the following is effects of ACE except:

a- decrease after load.


b- decrease preload.


c- decrease sympathetic activity.


d- increase myocardial contractility

7- digitalis toxicity :

a- hyperkalemia  







F

b- hypocalcemia







F

c- renal disease







T

4- propafenone :

a- has weak ( blocking effect






T

b- used for supraventricular arrhythmia




T

c- has metallic taste







T

5- propranolol :

a- effective in digitalis induced arrhythmia




T
 

2- erythropoiten :

a- stimulate the proliferation & differentiation of erythrocytes precursor
T

b- taken SC








T

c- used in anemia of cancer pt             




T

d- may cause increase in blood pressure




T

Blood pressure


Pulse pressure : pulsation by peripheral artey ( systolic – diastolic)( 120 – 80 ) = 40

Mean blood pressure average pressure force blood to tissue

Diastolic + ( systolic – diastolic / 3)

يعني

80 + ( 120 – 80 / 3) = 93.33


*** factors controlling blood pressure


Bp= Cariac output * total peripheral resistance

لو زاد ال CO راح يزيد ال systole بس

أما لو زاد TPR راح يزيد ال Diastole بس



طيب البريشر مين يتحكم فيه ؟؟


Vasomotorcenter in meduula oblongata


لو تحفزت راح تسوي Vasoconstriction of vessels

ولو ثبطناها تسوي Vasodilation






طيب الحين عندنا اشياء تتحكم بالبلود بريشر بسرعة واشياء ببطء


نبدا ب


*** Rapid control of Bp:

CNS ( sympathetic) ---- ( stimulat sympathetic – increase heart rate increase BP)

والعكس لو ثبطناه


2) Baroreceptor ( strech receptor )

تقدر بالضبط تخلي البريشر بمعدلاته الطبيعية

- carotid sinus & aortic arch هنا تكون موجودة هالريسبتورات


كيف تشتغل طيب ؟


Stimulate baroreceptor BY IN INCREASE IN BP (mcq) ----- DECREASE SYMPATHATIC & INCREASE PARASYMPATHATIC --- DECRAESE Hertrate ------ vasodilation ---- noramal BP

^^^^^ هااااااااااااااااااام والعكس يصير لو كان بالبداية نقص بالبريشر يزيد السيمباثاتيك وتزيد ضربات القلب فيرجع البريشر طبيعي 

3) chemoreceptor

4) arterial &  ((pulmonary receptor  low pressure receptor)


تتحكم بالذااااات ب blood volume

Increase Blood volume ----- atria in heart secrete (ANP)(atrial natriuretic peptide ) ---- increase NA excretion


معروف الصوديوم لما يطلع يسحب معه الموية وبالتالي يقل حجم البلود اللي كان مرتفع


Increase blood volume --- increase BP

Decrease ----- decrease














النوع الثاني


Long term regulation of BP

كل الاشياااااااااااء اللي بذكرها الحين تحدث اذا زاااد البريشر


Decrease rennin secretion 
Increase ANP secretion --- increase Na excretion
Decrease aldosterone secretion
Decrease ADH 

يعني بس شي واحد يزيد اللي هو ال ANP


طيب لو نقص البريشر

كل ذولي ينعكسوا ويصيروا زيادة الا ال ANP ينقص





باقي شي صغير


** circulatory shock :
Drop in cardiac output & BP
Rapid thready weak pulse
Wet & cold skin
Increase sympathetic --- vasoconstriction – sweet gland dilate عشان كذا البشرة رطبة

Increase Respiratory rate (tachypnea)
Oliguria تبول قليل

Cyanosis

Stages of shock:
لو فقد اقل من 30 بالمية من الدم
نسميها Non progressive وم يحتاج علاج

ولو نقص 30 بالمية
نسميها progressive ويحتاج علاج


ولو نقص اكثر من 45 بالمية من دمه نسميها irreversible 
والمريض بيموت

Ahmed Al-Aqeel
هذي التكملة


 
those notes written by Ahmed Al-Aqeel
 
 

time need to loss contractility less than 2 min


kidney & eye are common site of hypertension


Ashof Bodies , & the Organs are Heart,Skin,Joints --- Acute phase of RF




Fish mouth --- Stenosis in the Mitral Valve 




Libbmanasack Endocarditis ---- SLE




Pericarditis ---- uremia



Berry Anuerysm --- Subarachinoid



Aortic Dissection --- Marfin syndrome





highest conduction : purkenje

lowest : Av node


between cells : desmosome


left bundle is thick but right thin


what i mean by rhythmicity : if nerve supply cut ..........heart still beating

Right vagus --- SA node



sympathatic for heart come from T1 - T4


main supply by right coronary


pulmonary vein --- oxygenated blood


syncetium --- cuz gap junction


stair case phenomena ?



phase 0 , plateu , 3 , 4 vent AP هااام

SA node -- prepotential 

nooo plateau & no na channel




phase 4 SA node AP ?




whhhhhhhhhhy is there prepotetial ? 

K close
Na & Ca entry




sympataht what do in prepotential comparing it to para symp

كيف تزود ميلان او عمودية ال pre potential


Absolute refractory period معناها ؟؟



fate of CA

اغلبه يرجع لحاله لل sarcoplasmic

15 % facilitated diffusion -- 3NA -Ca exchange no ATP

5 % Ca pump with ATP



digitalis work on Na-K pump so more Ca will be on the heart ---- more contraction



isovolumetric contraction or relaxation متى تحدث كل وحدة ؟



3rd heart sound --- vent filling

4th -- atrial contraction



negative inotropic ---- hyperkalemia -- hyponatremia -- parasympthatic دوروا عليها بالخيارات وهي حل سؤال عندكم من اللي حطيتها لكم



dicrotic notch ?



acxvy JVP معنى كل وحدة ؟


1st heart sound after QRS 2nd afte T wave



PR interval --- from P to Q
incrase pr interval Heart block


OT from q to end of T -- looong in hypocalcemia



st segment -- if raised myocardial infarction



lead 1 ,2 ,3 ???



QRS incrase in hypokalemia


preload -- end diastolic volume 

CO = SV . HR

TPR --- arteriole


incrase TPR -- decrease COp



unstressed volume -- moooooooore


vasoconstriction --- less venous return


venoconstriction --- more venous return


excersise --- more venous return


adenosine --- vasodilation


hypoxia -- ?


NO --- vasodilation 
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